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Define psychc'ngical tests. What are the sociel and ethical fmpiicatiarte of testing minorities |

(OLD COURSE)

(3 Hours)

Attempt any three questions from each-Section .

Figures to the right indicate full marks.

Write bath sectione in the same answer book.
Use of calculator 1s permitied.
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Explain the concept of test rehabllily. Compare the test-retest, alternaie forms and split-half methed €
of test reliability.

What is test validity 7 Discuss criterion validity in detaii.

Evaluate the Stanford-Binet Seale of Intelligence.

Critically evaluate the TAT as a projective Technique.

Write noles on any thiree of the following :—
{a) Within Group Morms

4a,

5.

6

7. (a)
(b}
{c)

8. “f{a)
(o)

9. (a)
(b

0. (a)

-

(b} Hem Dilficulty
(cy.LOC

\

{d) ‘tern Response Theory

{e) Percentile Norms

(1)

Mental Age and 10

Section 1l

How ie-a lrequency dlslrlbutton lable preparsd ?

Arrarge the following scores in frequency: dlslnbutmn table.

110
180
205
138

164,
154
114
126

What are the usgs nf the vartnus measures of central !rendency 7

120

175

210
145

. 188

142

124

135

178

189

208

148

169
131
144
158

127
156

146 °

171
140
114

‘127

169

154

- ) . (N = 40). -
Piot a histogram for tha'da%a given above . . '

Calculate the Mean, Median and Mode for 1ha lollowmg distribution.

Ci
140—144

135—139

130—134
125—129
120—124
“115—119
110—114
105—109
100—104
95--99

f

o1
o4
08
12
18
1
08
05
03
o2

N=70

What are the merits and limitations of quartile Daviaum
Calculate the standard deviation for the dala given in. Question Mn, B{h)

What is an ogive 7 What are its uses 7
Calculate P, Pes and PR of 22 and 75 for the follawhg dis!nhutlon

80—88
¢ 70—79

BROBRBER ™ o

||n.

dd.com ;5:-

16

16

16

18

stion papers.



Con.4354-MC-4185-07. > ' 2

3
11. Write short notes on any three of the follewing :— itk
{a): Normal probability curve {d) Cumulstive Irequancy curve
{b) Skewness (e) Application of the Normal curve

{c) Kurlosis™

12. {a) What is correlation 7 How is it interpreted ?

(b) Calculate the rank order for the following scores : - 1{
X 5 e Y

71 41

68 49
58 53-

" BO 49
100 20
85 35
80 28
80 35

(c) Interpret the cor:ela-lion. _
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{REVISED COURSE)
(3 Hours) . [ Total Marks : 100

N.B. (1) Question Nos. 1 and 10 are compulsory.
(2) Attempt any two questions out of the remaining from each Section .

(3) Attempt six questions in all
(4) Both the sections should be written in the same answer book.
(8) Use of calculator is allowed. Each step of calculation should be clearly written in the answer bU{)k.

(6} Figures 1o the rlght indicate full marks.

Section |

1. Define Testing and Assessment. Discuss any five assumptions about psychological testing and-assessment. 18

2. Discuss and comparé test-retest reliability and alternate form reliakility. 16
3. What is test validity ? Discuss context validity in detail. : _ 16
4, Explain item-difficulty index and item-discrimination index. 16
5. (a) Explain‘information-processing view' of intellicence. : |
(b) Evaluate Rorschach ink-blot test; I , 8
Seption |}
6. (a) What are the advantagas and disadvantages oi preparing a Irequency d|str|but:on ? -
{b) Arrange the following scores in a 1requency aistribution, . . 10

65 . 92 91 85 70 B2 93 99
69 77 93 94 - ‘8B . 1114 TS - 90
@6 95 110, 82 74 .97 105 76
'8t 87 86 101. 93 106 76 .80

8 70 78 . 84 77 92 92
114 75 97 02 . €7

) 5 . N =45

{c) Plot histogram ior the above data. 3
7. (a) Compare mean and median as measures of central tendency. ! . 3
(b) Calculate mean, median and mode for the following dcta : ; 13

Cl f

55—59 05

50—54 03

45—49 08

40—44 18

35—39 - 15

30—34 10

25—29 o7

20—24 02

N = GB

. (a) Whir:h is the beSt measure of varlablllly ? Why '? 3
(b). Calcuiate QD for the folfowmg data :— : 9

Cl i

130139 (124

1 129 o7

110—118 n

100—109 14

- 90—89 20

. BO—89 16

70—79 o7

60—69 a3 i
N =80

(c) Calculate P,, and PR of 92 for the above data. 4
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' 9. Write short notes on any four :— 16
(a) Probability (d) Kurtosis
(b) Mature of normal curve (e) Skewness
{c) Importance of normal curve {f) Stanine
10. (a) What s Srmple Regression 7 4
(b} Calculate the rank-order correlation for the following set of scores :— 13
X Y
B4 a6
ar 105
52 109
53 98
7 ag
40 102
a7 103
52 108
28 114
AR 96
©{¢) Interpret your answer. 1
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